K 8wérksheets

[ Multi-Step Inequalities ] W5 #2
Solve each inequality and graph the solutions.
1) 5x—28<2x+2 2) —=7x+42>3x+2
X X
<F—t—F—t—F+T+F+F++> <t—F—F+—F+—1+++++++>
-60-50-40-30-20-10 0 10 20 30 40 50 60 -12 -8 4 0 4 8 12
3) 17x+ 15> 2x —45 4) 11x+73<2x+1
X X
<+t t+—ttt+—tt+t+T++"> <t—F—F—F+—F+++++F++>
12 8 4 0 4 8 12 -16 -12 8 4 0 4 8
5) 6x+32<12x—4 6) 8x+3>9x+7
X X
<t+—t—t+—ttt+tt+r++> <t—F—F+—F+—1—+++++++">
32101 2 3 456 7 8 9 -12 -8 4 0 4 8 12
7) —14x+2=>—-12x+8 8) 20x—-16<5x—-1
X X
D e e e e e e <At—t—t—t+—tF++T+>
-7 6 -5-4-3-2-101 2 3 45 6 -5-4-3-2-101 2 3 45 6
9) 2x—8<—-3x+2 10) —-5x—1=—-x+15
X X
—— ————t——1+> <+t +F+>
-12-10 -8 -6 -4 -2 2 4 6 8 10 12 -12 -8 4 0 4 8 12
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